

CIN NO.U40109 MH 2005 SGC 153646 EHV O&M Division, Solapur.

From:

Name of Office: Office of the Executive Engineer, Office address: Adm. Building at 220 KV Bale

Premises Ambikanagar Barshi Road,

Bale Solapur-413255

Email ID: ee6210@mahatransco.in.

Ref No: EE/EHV/ (O&M)/DN/SUR/Dy EE/ T/No. 452 DATE: - 31.03.2023.

### Rate must be quoted on % Basis Only (Higher/Lower/At Par).

**Sub :-** E-Enquiry for the work of construction of revetment wall at tower location no.457 of 220KV Lamboti-Pandharpur (D/C) Line under jurisdiction of EHV O&M Division Solapur.

Estimated Amount in Rs. -9, 26, 481/- only. (Inclusive of All Taxes).

Date of publication Enquiry: - From Dtd. 03.04.2023 To Dtd.11.04.2023.

Last Date for submission of Offer: - Dtd.11.04.2023 up to 18:00 Hrs.

Technical Opening Date:- On Dtd.12.04.2023 at 10:00 Hrs If possible.

Commercial Opening Date:- On Dtd.12.04.2023 at 12:00 Hrs If possible.

Dear Sir,

MSETCL invites OFFLINE bids/Quotation (E-Enquiry) from registered contractors /agencies for above said work as per schedule 'A'. You are requested to quote your lowest rate via submission of Quotation/Offer to this office on or before dtd.11.04.2023 up to 18:00 Hrs.

#### **TERMS & CONDITIONS.**

- 1. Offer should be submitted online on OR before: Dtd.11.04.2023 up to 18:00 Hrs.
- 2. % Rate must be quoted including of all taxes & duties.
- 3. The bidder is in his own interest expected to visit the site of work and acquaint himself with the site conditions. Such as availability of water, electricity, labour, approach roads etc, and all other conditions which will effect the work.
- 4. 5% security deposit will be required to be paid before affecting the supply which will be retained till Guarantee period is over.
- 5. The rate quoted should be valid at least three month from the date of opening of quotation.



CIN NO.U40109 MH 2005 SGC 153646 EHV O&M Division, Solapur.

- 6. The quotation not confirming to specifications as desired below are likely to be rejected.
- 7. Right to accept / reject any or all Quotations or part thereof reserved by the undersigned.
- 8. The interpretations of undersigned on any matter of decision given by him on any disputed point will be final and binding on contractor.
- 9. The documents of an offer shall be written legible and free from erasures, over writing or conversion of figures, corrections where unavoidable shall be made by crossing out, rewriting initialing and dating.
- 10.If the bidder has any doubt the meaning of any portion of the enquiry conditions/ specifications, he should get it clarified from the office of the undersigned before submission of the offer.
- 11. Attested copies of following documents along with offer should be submitted.
- a) Payment of Income Tax in SARAL FORM for financial year 2020-21.
- b) Valid GST Registration Certificate.
- c) Valid Shop Act Registration Certificate/Udyog Aadhar Certificate.
- d) Valid Civil Contractor License/Electrical Contractor License.
- e) Work order along with experience certificate by the authority not below the rank of Executive Engineer for carrying out similar type of work in MSETCL must be submitted along with offer/quotation.

Encl:- Schedule 'A.

Your's Faithfully.

**Executive Engineer EHV (O&M) Division, Solapur.** 

## Copy to:-

- 1. Web Master MSETCL.
- 2. Notice Board.



CIN NO.U40109 MH 2005 SGC 153646 EHV O&M Division, Solapur.

### Schedule A

**Sub:** - E-Enquiry for the work of construction of revetment wall at tower location no.457 of 220KV Lamboti-Pandharpur (D/C) Line under jurisdiction of EHV O&M Division Solapur.

Sr. No	Activity No	Item of Work	Qty	Rate	Unit	Amount
1	50014068	Labour charges for removing grass, thorney shurbs, Jungli shurb, kubabul & cutting down tress of various girths including trunks & branches and stacking as directed by Engineer-in-charge.	225.00	7.07	Sqm	1590.25
2	50013068	Excavation for foundation in earth, soil of all types, sand, gravel and soft murum, including removing the excavated material up to a distance of 50 m. beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift upto 1.5 m.) Bd.A.1 Page Number 259	172.55	194.93	Cum	33635.55
3	50013070	Excavation for foundation in hard murum and boulders including removing the excavated material up to a distance 50 metres, beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift upto 1.5m.) Bd.A.3 Page Number 259	10.00	237.29	Cum	2372.88
4	50013077	Providing soling using 80 mm size trap metal in 15 cm. layer including filling voids with crushed sand/grit ramming, watering complete.  Spec. No .: As directed by Engineer in charge.	29.58	1747.52	Cum	51691.55



# Maharashtra State Electricity Transmission Company LTD. CIN NO.U40109 MH 2005 SGC 153646

EHV O&M Division, Solapur.

5	50013139	Providing and laying Cast in situ cement concrete in M-10 (1:3:6) of trap/ granite/ quartzite/ gneiss metal for foundation and bedding including bailing out water, formwork, laying/pumping, compacting, roughening them if special finish is to be provided, finishing if required and curing complete, with fully automatic micro processor based PLC enabled reversible Drum Type mixer/concrete Batch mix plant (Pan mixer) etc. complete. With VSI Grade. Bd. E. 1 Page Number 287	4.93	5978.44	Cum	29473.71
6	50013153	Providing and laying in situ cement concrete M-20 of trap / granite /quartzite/ gneiss metal for R.C.C. work in foundations like raft, strip foundations, grillage and footings of R.C.C. columns and steel stanchions etc. including bailing out water, formwork, laying/pumping cover blocks, compaction and curing roughening the surface if special finish is to be provided (Excluding reinforcement and structural steel) etc. complete, enabled reversible Drum Type mixer/concrete Batch mix plant (Pan mixer) etc. complete. V.S.I. quality Artificial Sand. Bd.F.3 Page Number 298 and B.7, Page Number 38	12.15	7068.82	Cum	85886.19
7	50013156	Providing & Casting in situ cement concrete M-20 of trap / granite /quartzite/ gneiss metal for R.C.C. PARDI as per detailed designs and drawing or as directed including centering, formwork, cover blocks, laying/pumping, compaction finishing the formed surfaces with cement mortar 1:3 of sufficient minimum thickness to give a smooth and even surface or roughening if special finish is to be provided and curing etc. complete,(Excluding reinforcement and structural steel).with fully automatic micro processor based PLC enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With natural sand. Bd.F.5 Page Number 300 and B.7,Page.Number 38	27.03	13453.47	Cum	363647.19



CIN NO.U40109 MH 2005 SGC 153646 EHV O&M Division, Solapur.

Total in Rs. 92648					926480.58	
12		Supplying hard murum/ kankar at the road site, including conveying and stacking complete.	54.00	401.98	Cum	21707.08
11	50013082	Transportation of debris, garbage and unwanted material from colony premises transporting by mechanical means up to 2.00 Kms, lead including loading, unloading etc. complete.  Spec No. as directed by Eng-in-charge complete.	10.00	991.95	Trip	9919.49
10	50013128	Providing and fabricating structural steel work in rolled sections like joists, channels, angles, tees etc. as per detailed design and drawings or as directed including cutting, fabricating, hoisting, erecting, fixing in position making riveted / bolted /welded connections without connecting plates, braces etc. and including one coat of anticorrosive paint and over it two coats of oil painting of approved quality and shade etc. complete. Bd.C.2 Page Number 275	0.5	90072.88	МТ	45036.44
9	50013182	Providing and fixing in position TMT - FE - 500 bar reinforcement of various diameters for R.C.C. pile caps, footings, foundations, slabs, beams columns, canopies, staircase, newels, chajjas, lintels pardis, copings, fins, arches etc. as per detailed designs, drawings and schedules. including cutting, bending, hooking the bars, binding with wires or tack welding and supporting as required complete. Bd.F.17, Page Number 306	3.72	72495.77	МТ	269836.51
8		Providing and laying weep holes of 100mm dia meter PVC pipes as per drawing for abutment returns, return walls etc. Complete MORT&H (5th Rev.) 2705, 2706	24.00	486.82	Rmt	11683.73

Note:-1) % Rate must be quoted Including of all taxes.

2) % Rate quoted should be Inclusive of all taxes like L Cess, GST, Excise Duty, etc should be mentioned clearly, if applicable.



CIN NO.U40109 MH 2005 SGC 153646 EHV O&M Division, Solapur.

* Estimated Cost: Rs, 926480.58/- only. (Rs. Nine Lakhs Twenty Six Thousand
Four Hundred Eighty Only) Inclusive of all taxes.
Note:

- 1) If the percentage variation of estimated rates is more than (+) 5% detailed rate analysis should be submitted if so desired by the accepting authority.
- 2) if there is any discrepancy in figure and in words the rates quoted in words will be considered.

Executive Engineer,
EHV (O&M) DIVISION, SOLAPUR.

This is to confirm that I have studied description of items in detail. I have visited the site made myself and conversant with the site & working conditions.

I am ready to execute the above prescribed work with.

1)	% Below	[In words a	] of the Estimated cost.
2)	At par	[In words .	] of the Estimated cost.
3)	% Abov	e [In words	] of the Estimated cost
			Dated
			Signature of Contractor with seal.